DAY 96
CAPITALIZATION:

1. during the french and indian war, the iroquois indians helped the british troops.

PUNCTUATION:

2. Deans mother asked Isnt your brother twenty nine

PARTS OF SPEECH: VERBS
Circle the correct verb:

3. A. The sun has (risen, rose).

Gusts of wind had ( blew, blown ) down the chimney:.
Have you ever ( wore, worn ) showshoes?

Those tomatoes were (grown, grew) in a greenhouse.

moow

Her spirits had ( sank, sunk ) when she heard the news.

PARTS OF SPEECH: PRONOUNS
Reflexive pronouns are myself, himself, herself, yourself,
ourselves, themselves, and itself.

Theirselves and hisself are always incorrect.
Write an appropriate pronoun:

4. She changed the tire

ANALOGIES:
Circle the correct answer:

5. heir: heiress :: hero:
(a) knight (b) heroess (c) heroine (d) lady

SENTENCE COMBINING:

6. Diana'’s doll has a porcelain head.
Diana’s doll is an antique.
The porcelain head is cracked.






